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Which one is false?

A It is acube

B It has b faces

C I't's faces are squares
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Which one is false?

A Triangle at both ends

B It is a prism

C It has 7 verticies
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Which one is false?

A It has no verticies

B It has a circle base

C One flat face, and one curved face
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Which one is false?

A It has no verticies

B It is acylinder

C It has 4 faces
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Which one is false?

A It has 4 verticies

B It is a prism

C It has 4 faces
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Which one is false?

A It has a square base

B It is a pyramid

C I't has 7 edges
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Which one is false?

A It has a square base

B It is a pyramid

C I't has 7 edges
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Which one is false?

A This is a net

B It will make a cube

C I't is also a prism





